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Figure 3. The relative errors of the numerical solutions of the first problem with the reaction rate 
[image: image2.wmf]22

(,,,)1.

rxytccxyxyt

=-+--+

 The errors were calculated in every time level as the maximum norm of the difference between the exact and the numerical solution. The relative error is plotted against the number of time steps. Both the full and splitting problems were solved numerically by an implicit Euler scheme. Grid parameter 
[image: image3.wmf]1.0

h

=

, the (time step)
[image: image4.wmf]0.015

t

=

. The evolution of the error in time.
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